Polaris®

s PROARMOR

XP 1000/XP4 1000/ v e AS A 5TD
Turbo S/Turbo S4 ERY A5 A STORY

Sport Rear Bumper Instructions (P187P361)

***NOTE: Prior to installation, please verify if a revised version of this instruction sheet is available on proarmor.com.***

Remove rear fascia bolts, two upper &
two lower bolts (4-bolts).

Remove the 2 M6 bolts holding the muffler

support bracket to the chassis, on each side mounting brackets to the chassis. You may need

of the vehicle. to work the lower mounting brackets around the
radius rod plate by angling the bumper as you
put it place.

O SO |

1 g . ! =
- " ] TURBO S MODELS ONLY: Apply Spacer bracket
Reinstall the 2 M6 bolts to secure to lower mouhting bracket.

the upper mounting tabs.

Pro Armor | 1123 Sherborn St. Corona, Ca. 92879 | 888.312.7667 | www.proarmor.com

[For further information on installation instructions and warnings please visit our website]



Polaris®

2019 RZR®
XP 1000/XP4 1000/ PHD AHMBH

Turbo S/Turbo S4 EVERY RIDE HAS A STORY

Sport Rear Bumper Instructions (P187P361)

The supplied M10 bolts and winged nuts will be Adjust the bumper so that it is level. Once you
used to fasten the lower mounting brackets of are satisfied with the placement of the bumper,
the bumper to the chassis. The winged nut will fully tighten all of the hardware. Re-attach the
allow you to tighten the M10 bolts without rear fascia. Torque down all bolts applied.
having to hold the nut on the other side, since Install is now complete. Make sure all hardware
space is very limited between the chassis is properly secure before and after every use
mounting area and rear differential. of vehicle.

i et gy o et ey e
b

Pro Armor | 1123 Sherborn St. Corona, Ca. 92879 | 888.312.7667 | www.proarmor.com

[For further information on installation instructions and warnings please visit our website]



